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1. Introduction
It was February 2010 when Greece Debt Crisis emerged. It has triggered the whole Euro crisis in consequence and Euro has been on unrest since the Greece crisis happened. When it was revealed that the government deficit which was made public was disguised, credit toward Greece finance has been lost and the possibility of default has emerged at the same time. As a result, the value of governmental bond has fallen and CDS cost has increased sharply. 
Another characteristic of this crisis was that Greece crisis was contagious, that other euro member countries such as Portugal, Spain, Ireland and Italy (“PIIGS”) were also focused on with their weak governmental finances with a fear that these member countries might also fall into crisis just like Greece. Not only PIIGS, but also “big” countries such as Germany and France have also became the target of contagion as these countries’ banks hold great amount of Greece bonds. To tackle with the ripple effect of sovereign crisis to infect from Greece to whole Euro zone, euro members and IMF decided to rescue Greece with 750 billion euro. 440 billion euro out of this 750 billion euro was issued by European Financial Stability Facility. To this rescue with enormous amount of finance, German citizens were reluctant as they were the one who needed to support Greece with their tax revenue because of their powerful position in Euro zone. 
In this essay, we would like to first overview the history and aim of Euro establishment, the series of Euro crisis which spread to other member countries with the trigger of Greece crisis. After the overview, we will consider whether Greece will default or not and how Germany will act in the future.   
2. The purpose of Euro establishment
For many centuries, the political integration had been tried among the European nations. It has derived from a political purpose of achieving the extermination of the military conflict in Europe rather than economic development. Therefore, the integration is a symbol of peace based on the motive to historical reconciliation and the anti-war in future. However, the method took account of the start from economic practices, such as customs union and a joint management of coal and steel. 
To integrate politically in Europe, the relation between France and Germany played an important role in above all. This is because it was necessary to reconcile victory country France with defeated country Germany after World War II. The affiliation of European Economic Community (EEC) becomes big stimulation to the revival, and German economy accomplishes the rapid growth under a long series of conservative government, by the increase of the capital investment, export, and national consumption. The Deutschemark, the strongest currency in the European Continent, was the symbol of German primacy.
Meanwhile, the distrust was spread among the countries especially in France after Germany was unified in 1990, Germany agreed with enforcement of the integration to solve such a problem. The opinion that it is necessary to abolish the Deutschemark to achieve the European integration strengthened. This led to the Euro come to develop realistically and monetary policy of a common currency of the Euro was adopted. The European central bank is mainly based on the German Bundesbank, which controls politics independently. This means that German government has strong autonomy and can impose severe regulations on loose countries such as PIIGS. Since Germany does not have so much restraints, the nations can expand its economical power even if German currency converts to the Euro. Therefore, Germany decided to give up the Deutschemark reluctantly. 
Euro was born in 1999 as a new currency. It came to be actually had dealings in a foreign exchange market as an integrated currency of Europe at the beginning of the year. Euro is composed of a European central bank and the central bank in each country, and is managed by the ECB system. Only the ECB can settle on the monetary policy, and the central bank in each country prints, casts the note and the coin, circulates, and manages the settlement system. Even though finance in each country is not the same, only the integration of monetary policies is valued and the Euro has been established. The difference of such finance and fiscal policy threaten not only Euro but also the safety of the entire EU economically.
What happens when both loose countries and healthy countries use the same currency? Since the ECB buys the bond of the loose country up, monetary supply increases and these published money flows into healthy countries. When money increases rapidly, the relative value falls and much money is needed to buy the same thing. As a result, inflation occurs because of the monetary union. Although the possibility of causing fiscal bankruptcy or hyperinflation is very high if the loose country is managing in its own currency, the same monetary policy makes the nation to be able to escape the worst situation. On the other hand, by the inflation occurred which the healthy country absorbed a lot of money, the interest rates of its national bond will get stuck at high levels.
Such same situation has happened at the Euro. The gap of the economic scale of Germany and PIIGS is large, and has advanced the inflation. A healthy country like Germany has to become a burden by having joined in Euro. Although fiscal policy is independent, inconsistency that only a financial policy is common has brought about the bad influence. If prices are not balanced, not only the finances among European countries but trust of currency will fall. Then, in order to stabilize prices, a certain agreement was performed so that it might be a severe for loose countries to join in the Euro. 
To maintain the price stability within the Euro zone even with the inclusion of loose countries, the euro convergence criteria (the Maastricht criteria) was set in 1991. It was the criterion for European Union member states to enter the European Economic and Monetary Union (EMU) and adopt the euro as their currency. There are four major settlements;

First, the rate of inflation is not allowed to exceed more than 1.5% of the average rates of the three lowest inflation member states. Second, the ratio of annual government budget deficits must be below 3% of GDP. The government debt is also required to be less than 60% of GDP. Third, applicant countries should have joined the exchange-rate mechanism (ERM II) under the European Monetary System (EMS) for two consecutive years and should not have devalued its currency during the period. Finally, long-term interest rates must not be more than 2% in inflation to the average rates of the three lowest inflation member states. 
If the loose economic countries passed all the rules of the criteria, it seemed　that they could coexist with the healthy countries, and the instability of the prices by a　gap would not occur. However, only Luxembourg was able to keep the settlements. The　reality did not go satisfactorily in Europe, and had various difficulties while both countries　performed monetary union and stabilized prices at the same time.　It was merely temporary that prices were stabilized after the convergence criteria　were introduced. As for Germany, its annual budget deficit became close to 4 percent　of GDP at the end of the year, and its total debt already exceeded 60 percent limit. In　order to fulfill the criteria, Deutsch Telekom, the state-owned telephone service, was　sold off on the stock market. So was Lufthansa, and the financial result improved only a　few at the end of the year. Moreover, Theo Waigel, the finance minister, has discovered　that the gold held by the Bundesbank has been undervalued badly for many years. He　prompted the government to revalue them to reflect the market price for gold. The deficit　shrunk during the short period, and returned to former financial condition after that.

As for countries adopting the Euro, the obligation to prevent excessive fiscal deficit has been imposed based on the Stability and Growth Pact. To facilitate and maintain the stability, the amount of fiscal deficit in a single fiscal year is necessary to be adjusted to 3% or less of the share of GDP. In addition, the debt balance is required to be 60% or less by the share of GDP. These agreements come from the Maastricht convergence criteria. Any countries in the Euro area that violated the restrictions would get penalties for violation and the judgment whether to violate such an obligation is given by European Commission. The Pact was subsequently judged to be too strict and was reformed in March 2005.

The Stability and Growth Pact was advocated by the German finance Theo Waigel. Germany had maintained the low inflation policy for a long time, and this led the key role the support of strong economic development in Germany after the 1950's. The German government was going to find the continuation of the low inflation policy by the Stability and Growth Pact that would control the ability of the government which brought inflation pressure to European economy. Ironically, a penalty for violating the Stability and the Growth Pact is not to be provided for large countries such as France and Germany which most strongly promoted the decision of the agreement. These countries have kept the excessive deficit for several years.
New EU members are all due to adopt the euro if they are able to meet the criteria. 11 countries adopted the Euro at first, and then a member nation of the Euro is 16 countries as of 2010. However, Greece did not fill the criteria when joined in 2001 two years after the Euro introduction. It became clear that Greece faked the actual budget deficit and had submitted the report to the European Commission at this time in 2004.
Starting from Greece, loose countries have started to enter the Euro without covering the criteria. Danger of default has risen also even in an important country that bears the Euro now. Member nation cannot use a financial policy for solution of an economic problem, but cope with it only by fiscal policy. This is very difficult. The example that shows it well is a Greek crisis that occurred in February this year. After the crisis, the budget deficit of the entire EU goes up to 7% and the government debt becomes 80% in 2010.
3. Greece Crisis
Greece crisis emerged in February 2010, and soon became a serious threat not only to Euro zone but also to the whole world. Why did this crisis happen, and cause great panic? This crisis influenced the trust of the Euro and the system of the Euro. To examine the future of the Euro, we have to trace this crisis. Greece crisis was triggered when the political power was changed. In October 2009,Papandreou government　was set up. This new government corrected their GDP fiscal deficit from 5.1% to 12.7 %. EU demanded Greece to readjust fiscal balance of Greece. In December, Standard & Poors, a rating company in the United States, reduced the evaluation of Greece bond from A- to BBB+. This caused a chain of reduction in the evaluation of Greece bond. Other rating companies followed its rating. Hence, the credit crunch of Greece bond was expanded in the market, and so-called, Greece crisis happened in February 2010. In March, Greek government announced their new plan to cut their fiscal deficit. They proposed the reduction of fiscal deficit from 12 % to 3 % by 2012, and showed that they will reduce to 8.7 % by the end of this year in order to achieve its goal. However, this plan did not remove the anxiety among traders, so on April 23rd, Greece demanded EU for a support plan for Greece. It reduced the evaluation of Greece bond from BBB+ to BB+ (by S&P).
EU, however, could no longer deal with Greece situation. In Summit conference of EU held in March, IMF agreed to financially support Greece. Therefore, EU and IMF decided to provide 110 billion euro to Greece for three years. In Greece, government passed the bill of reducing the annual expenditures. It caused huge opposition among people, because most of the people are government officers. Reducing of expenditures means that they need to reduce of their salary, bonus and pension. In addition, consumption tax (VAT) rose from 19 % to 21 %. It gave impact on household. Under this strategy, Greece cannot promote its economical growth and make its fiscal deficit balanced. However, they did not have a choice to do so. 
This crisis influenced other countries like Spain and Portugal. Some of PIIGS countries such as Spain and Portugal are also facing fiscal deficit. Spain has forth GDP share in EURO zone. If Spain defaults, the impact to the world will be enormous. For Greece, its GDP share is too small to give such as impact. Actually, on May 28th, Fitch Ratings reduced the evaluation of Spain bond. After Greece crisis, traders became sensitive to sovereign risk.
In　this chapter, we are going to explain three points. First, we clarify the cause of the Greece crisis, especially why fiscal deficit in Greece increased so much. Second, we talk about a possibility of whether the Greece defaults or not. Third, we examine the influences to the Euro and the Euro zone’s countries, especially PIIGS. As examining these three points, we can explain the role of Germany in the Euro zone.
4. Cause of Greece crisis
First of all, we clarify the reason why fiscal deficit in Greece increased so much from 2009. Fiscal deficit means that annual expenditure exceeds annual revenue which depends on the growth rate. If the growth rate is low, basically revenue decreases. The average real growth rate is 4% from 2000 to 2008 and fiscal deficit increased from 3.7% to 7.7% through 2000 to 2008. The real growth rate, however, fell to -2.0% in 2009 and fiscal deficit increased to 12.7% in 2009. Therefore, we explain the reasons of these results in two parts. 
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2009 2010 2011 2012 2013 2014 2015

revenue 36.9 40 39 38.5 38.2 37.2 36.3

expenditure(except for interest payment) 45.4 44.9 46.6 46.5 46 43.9 42.5

measure(annual) 2.5 4.1 2.4 2 1.9 0

measure(total) 2.5 6.7 9 11 12.6 12.2

primary balance -8.6 -2.4 -0.9 1 3.1 5.9 6

interest payment 5 5.6 6.6 7.5 8.1 8.4 8.1

fiscal deficit -13.6 -8.1 -7.6 -6.5 -4.9 -2.6 -2

accumulated debt 115.1 133.2 145.2 148.7 149.2 146.1 140.4

real growth rate -2 -4 -2.6 1.1 2.1 2.1 2.7

current account deficit -11.2 -8.4 -7.1 -5.6 -4 -2.8 -1.9

foreign accumulated debt 83.4 92.7 101.5 103.1 102.2 99.7 95.8

unemployment rate  9.4 11.8 14.6 14.8 14.3 14.1 13.4

rising consumer price index rate 1.3 1.9 -6.4 1.2 0.7 0.9 1

First, we talk about why Greece developed rapidly from 2000 to 2008 and fiscal deficit increased slowly. Greece adopted the Euro in 2001, and then developed rapidly. That is the benefit of the Euro. As showed above, Greece was able to raise money at a lower interest rate by using the Euro which was rather high for Greece. Moreover, there has been no foreign exchange risk. As a result, Greece was financed much by foreign financial institutions, especially by European institutions. Thanks to these finances, Greece was able to develop infrastructures and the importation increased dramatically because not only of the Euro but also by the expansion of domestic demand. On the other hand, Greek main industries are marine transportation business and the tourist industry which are susceptible to outside influences. Until around 2007 there had been good times around the world. Consequently, these industries had been doing very well. That is why Greece developed rapidly. At that time, Greece adopted an expansion policy. Greece invested much money in growth and because of this fiscal deficit increased slowly. 

Second, we talk about why Greece fell in 2009, and fiscal deficit increased so much. Greece had imported so much, because it has used the Euro and its export competition has been weak as the salary has been higher than the productivity. This caused the current account deficit. A current account deficit means that money outflows from a country. In case of Greece, a sufficient inflow of capital enabled its outflow to be covered. The money, however, had been financed by foreign financial institutions and investors who are oversensitive to a risk of the country. Once a risk appeared, they would take out money. It happened to Greece. In 2008, Lehman Shock happened. As a result, market has been more sensitive to a risk. At the same time, Greek main industries are more susceptible to outside influences. This situation became substantially worse. And the government took a measure to alleviate, and then brought fiscal deficit. In general, a country where it has low export competition devalue the currency, and it raises export competition which produce higher growth rate. In case of Greece, however, they cannot devalue their currencies because they use the Euro. They cannot take a monetary policy separately. That is why they have to continue to fall. Consequently, Greek current account deficit and the outflow of capital caused a shortage of money, and then the domestic consumption decreased, which brought lower growth rate. As a result, Greek financial institutions had nonperforming loans. They had higher risk, and what is worse, they caused the more outflow of capital and this continued over and over. Actually, the interest rate rose rapidly and CDS spread also did. To stop the trend, the government was required to spend much money.

5. Will Greece default?
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Second, we talk about default of Greece. Will Greece default? It is necessary to achieve the primary balance to default. If it cannot achieve the primary balance continuously, the multiplied debt also continues increasing consistently. In this case, Greece would collapse economically. If Greece defaults, it cannot also borrow again from the same creditors. In order to avoid the collapse in the long term, it will be necessary not only to achieve the primary balance but also to create a surplus in the primary balance. As long as the primary balance is on its equivalent, there is no need to issue a new bond for annual expenditure except the interest burden. The annual revenue will be spent to pay the expenses. Greek primary balance, however, is not achieved. In 2009, Greek primary balance is -8,6% of GDP. That is why they have reduced the fiscal deficit. For example, they have raised VAT and reduced government officials’ salary and pension. They expect a reduction in the expenditures by 22,3 billion euro in five years. On the other hand, they expect an increase in the revenue by 7,7 billion euro in five years.

As a result, Greek primary balance is expected to become from -2,4% in 2010 to 1,0% in2012.　It is said, however, that they may be not able to achieve these goals. First, Greek reduced budget will make its unemployment rate rise: from 9.4% in 2009 to 14,8% in　2012. Second, a real growth rate is expected to become from -2,0% in 2009 to -2,6%　in 2011. Finally although the devaluation of euro has their exportation increased more,　Greece exports to the Euro zone by 43% (in 2008) and to eastern European countries　linked to euro by about 30% ( in 2008), and so the effect of the devaluation is limited. They have to reduce the cost to raise their export competition.

Greek government is trying to reduce a budget deficit from 13,6% in 2009 to 2,8% in 2012, but Greek multiplied debt are expected to become from 115,1% in 2009 to 149,2% in 2013. Even if they can achieve the primary balance, they will probably default because they do not have the ability to repay such loans. Furthermore, unlike Japanese, Greek bond had been financed by foreign financial institutions. They are nervous about a risk. The adoption of euro by Greece which does not have the export competition causes an increase of the current account deficit in Greece. That is because having rather high currency has brought the rise of its import. Its current account deficit reached to more than 14% in 2008. In general, these double deficits cause the nation hard to finance foreign capital. However, Greek bond was purchased by mainly European banks with interest rate lower than the original interest rate.  

This caused the double deficits a more serious problem. Finally, the credit rating was sharply downgraded because it is considered that Greece has high sovereign risk. Since then, its financial condition has become even worse.　As mentioned above, the real growth rate is decreasing, on the other hand, the interest rate is rising because its sovereign risk is high and it has risk premium. As a　result, Greece has to repay more than the income from the growth; the spread between the nominal growth and the nominal interest rate of 10years bond is -6%. Greece does not have the ability of the repayment, and so it has no choice but to default. Now, however, if it defaults, the European banks would be so damaged, and then a financial crisis would happen again because they have Greek bond and they already have nonperforming loans by Leman Shock. Moreover, it is feared that the sovereign risk would extend to other uneasy countries such as ”PIIGS”. That is why IMF and EU gave Greece bailout. In other words, this bailout is gaining time. And then, IMF and EU have forced Greece reduce the deficits. Greece is forced to reduce the deficits, but it has increased the multiplied debt.

As a result, Greece needs to achieve the primary balance at any cost to default in 2012. On the other hand, it is required to repay the bond as much as possible especially to IMF because IMF must be repaid preferentially. As a result, the financial institutions, especially European banks, will be damaged in 2012 though the damage is reduced. Nevertheless, European governments have given bailout not only for Greece but also for their own, and that means they will take over the damages, especially the most influential nation, Germany.　Besides, ECB which has purchased the high risk bond to control confusion of the market will also be damaged. A half of ECB finance is composed by Germany and France, which means that the most of ECB’s damages is charged to these countries.

6. Influence of Greece crisis
Third, we are going to talk about the influence to the Euro and countries in the Euro zone, especially PIIGS. The Greece crisis happened in 2010 has revealed the contradictions of the Euro system. Precisely, while the members’ monetary policy is determined by ECB, the fiscal policy is determined by each members’ government. These countries cannot deal with their own economic problems by their own financial policy. Therefore, even if the financial condition becomes worse, they cannot reform their finance on their own; they cannot devaluate their currency or manipulate the money supply. Moreover, the value of the Euro is rather high for economically weaker countries, so their export competition has become lower since the introduction of the Euro and they cannot develop through exportation. As a result, they have no choice but the dependence on the surplus countries in order to reform their finance. On the other hand, the single currency benefits stronger countries. The value of the Euro is rather low for these countries, and their export competition has been becoming higher. This is showed in the graph. With the benefit of the single currency, they have developed economically (especially Germany). These contradictions made the value of the Euro decreases while the risk of the Euro increases. Although the Euro has been depreciated, strong countries such as Germany has enjoyed the benefit of the depreciation. In fact, the Euro exchange rate to Yen fell from €1= ¥120 in the beginning of February 2010 to €1= ¥108 after this crisis became clear to everyone this spring. In this situation, Germany has benefited from its increased number of exports. The other weak countries, however, still have gotten worse by the depreciation, and then they need more help. That is why those financially good countries are required to help these financially bad countries to develop. However, this relationship between financially bad countries and good counties would not last for a long time. This recurs again. If this continues for a long time, those strong conditions would be also deteriorated. To improve the contradiction, they have to unify the fiscal policy. That means the unification of the Euro zone’s countries’ politics. It takes a lot times to unify the politics because they are required to identify a social security system, the language and so on. It is much difficult to achieve it. 
Greece crisis made market sensitive to sovereign risks and gathered attention to the financially performing bad countries in Euro zone so-called PIIGS. After the breakout of Greece crisis, Fitch, a rating company devalued Spain bonds form A- to BBB+ in May and S&P devalued Ireland to AA. Also that led to the rise of the PIIGS’s spread rate compared to Germany’s. Rise of the interest rate prevented these countries to grow. Greece crisis also affects PIIGS in other aspects. It caused market really sensitive to default risks. These countries have high percentages of foreign debt, high unemployment rate and low economic growth rate. Take Spain as an example of PIIGS. Spain, a country that had -3.6% economic growth rate in 2009 and has 18% unemployment rate and it is in severe economic situation now. Spanish government decided to cut their expenditure sharply by 5% wage reduction of government employees. By reducing expenditure, they are going to cut 5.2 billion euro this year and 10 billion euro in 2011. Even though these hard efforts Spain had made, they will not be able to catch up with the financially good countries such as Germany and France as long as uncertainty about Greece remains on people’s mind. Spain, Portugal and Ireland’s debt spreads compared to Germany’s jumped up after the spring in 2010 as Greece’s jumped up.  Looking at the economic situation of these PIIGS countries in terms of growth rates, these countries fall far behind Germany and France. In 2010, Germany has 1.2% growth rate, Spain’s -1.2%, Italy’s 0.8%, Portugal’s 0.3% and Ireland’s -1.5%.  The growth rate of these countries are expected to get high a bit in coming years, however they would not excel Germany’s. That means that PIIGS countries dampen the Euro zone economy by making Euro much weaker.  The existence of these financially bad countries increases the burden on Germany, the most financially good country in the Euro zone. Moreover, only Spain takes up 9% of GDP in the Euro zone. That is why the burden on Germany would be much larger compared with Greek crisis.

To stabilize fractured financial market, stress test that examines the balance sheet of banks in the Europe was practiced and the result came out in July 2010.  CEBS (Committee of European Banking Supervisors) decided and announced that they are going to practice a stress test on 91 banks in Europe. Euro area countries did the stress test because there is a success of the US stress test. The US stress test succeeded in the recapitalization of banks and stabilizing the market. However, the stress test that has done in Euro area was not trust worthy. Only 7 banks out of 91 could not pass the stress test. This stress test did not check certain areas of the balance sheets. The way examining the balance sheets without considering the haircuts made banks easier to pass the test. Therefore, banks were able to pass the stress test really easily.  Even though the announcement that EU, ECB and CEBS say that these results confirm the briskness of the European banking systems soon after the stress test, the loss of the credit still remains. One thing that is remarkable here is the fact that 5 banks out of 7banks which were not able to pass the stress test are Spanish banks. This fact that Spanish banks could not pass this easy test means that there is an uncertainty over Spanish banks. As we mentioned before, Spain takes up nearly 10% of GDP of Europeans countries (Greece is only 2.4%) and it has high unemployment rate. The situation in Spain is getting more and more serious. Though the Spanish government is trying to cut expenditure by reducing the number of official workers and make the balance sheet better, it is perhaps difficult because its cut may cause the unemployment rate to increase and the growth rate to decrease in the long term. The economic scale of Spain is 4 times as large as Greece.  If Spain reached the level that they need financial aid from other countries, Germany has to lend much more money they did during this Greece crisis. That means burden on Germany would be heavier.

7. How Germany acted to the Greece crisis
<Notable German role>
Partly because the Euro was introduced for political reasons, it lacks a proper emergency financing mechanism. ECB is not allowed to rescue the members’ government. So in the crisis, countries which can afford necessarily have to provide assistance to indebted countries, such as Greece.
Now, German role in the Euro zone is becoming more and more notable. As a member of the Euro, Germany has inevitably become the largest creditor of the Euro zone's seriously indebted peripheral nations. Germany is the main surplus country and its proportion of the Euro zone’s whole GDP is the highest (29.1%). Precisely, if there is no bail out clause, the bad effect would be within the country. On the other hands, bail out could expand the bad effect. In fact, German taxpayers will have to pay for Greece; directly, through emergency government loans; indirectly, through supporting German banks that will be hit by a Greek debt restructuring. Some problems about the Euro is now appearing.
<Introverted Germany>
After the World War Ⅱ, Germany has consistently persisted to the stability of its own finance. Particularly, Germany has strongly guarded against inflation, and its financial policy has been characterized by such attitude. After the unification between west and east, Germany suffered from hyperinflation. This is one reason why Germany is excessively sensitive to inflation. Therefore, in the process of creating the Euro, German consisted on the price stability, and especially emphasized the criteria, in particular for the loose economy countries (EU members must maintain annual fiscal deficit less than 3% of GDP and accumulated government debt less than 60% of GDP). Germany did not intend to relieve those countries. Moreover, German law prohibited bail-out to the loose economy countries. In 1993, the constitutional court ruled that once the Euro came into force, monetary union had all the time to satisfy the full conditions of the ‘stability pact’ concluded when the single currency was agreed. If it did not, the court ruled, Germany would be obliged to leave.
<Germany reluctance to rescue Greece>
The Greece crisis happened in February 2010, and soon became a serious problem for the Euro zone as a whole. Perceived possibility of default on the Greek government loans increased its borrowing cost and CDS spread sharply, and made the default even more likely. Germany has received benefits of the Euro, for example the increase of export competition. Therefore, you might think that Germany naturally have to help Greece. Germany, however, is reluctant to support Greece because Germany, which has maintained its sound economy, would be damaged the most. That is why the country prohibited bail out. Its public opinion too is against the bail-out for Greece. German people of course are unwilling to rescue Greece by their tax. Now it is worried that the same thing just like what happened in Greece will happen to the countries like PIIGS. There is a possibility that this contagion will also spread to Germany. In order to avoid such a situation, Germany, as a member of the Euro zone, decided on a rescue package.  In other words, Germany helped Greece in order to maintain its own sound finances.
Though now in the crisis, Germany is too much absorbed in its own finance reform. It is true that Germany economic policy has contributed to the stability of European economy. However, many other European countries take negative view of it. Harold James commented about Germany’s fiscal policy in “PROJECT SYNDICATE” on July 3, 2009.
Germany is different, not because it is not spending now, but in how it talks about the future. The German government has taken a peculiarly aggressive line in attacking deficits and in trying to lay down a firm exit strategy. Chancellor Angela Merkel has criticized the United States Federal Reserve and the Bank of England for “quantitative easing,” which has in practice allowed the central bank to monetize many types of government and non-government debt. The German government also successfully passed a constitutional law requiring the government deficit to be capped at 0.35% of GDP in 2016 and eliminated by 2020. By the establishment of this constitution, German government is trying to show the safety of its government bonds and hold down the interest rate (probably for Greek default at 2012). In addition, this constitution implicitly demands to strengthen the Euro System, in particular, strengthen surveillance over members’ fiscal policy. Perhaps, you can consider this as an excuse for the withdrawal from the Euro.
8. Conclusion
In this paper, we traced the history, prosperity and crisis of the Euro. In this section, we forecast what will happen to the Euro on the basis of our research. followings are our scenario of the future.
        Greece defaults in 2012 when the financial aid by IMF and EU expire. It is impossible that Greece defaults at once, but that is possible in 2012 because Greece has enough time to get their primary balance on its equivalence. When Greece defaults, Germany receives bad effect by two ways, directly and indirectly. When Greece government bonds German government and banks have gotten frozen, German economy and balance sheet of the banks will be injured directly. Greek default affects PIIGS, which damages Germany indirectly. PIIGS also have Greek government bond. Therefore, when Greece defaults, PIIGS faces financial  crisis, especially Spain. The stress test reveals that Spanish banks have serious problem. If Spain face serious crisis, Germany gets bad effect because German government and banks have huge government bonds of Spain. The fact that Germany has enormous government bonds of Spain represents particular relationship between Spain and Germany. That is mutual help, which means that Germany buys the huge government bonds, on the other hands, Spain imports huge quantities of products made in German. The fiscal deficit of Spain is very big and unemployment rate is very high. What is worse, Spanish economy does not have enough productivity to compete in  the worldwide market. Accordingly,  there is no way Spain gets rid of crisis but salvation by EU like Greece. Of course, Germany has  the responsibility and the reason to help Spain. However, it is much harder than Greece case to help Spain because Spanish economy is larger than Greece, which means the salvation of Spain needs much more money than the support of Greece. 
Now, Germany has new budget regulation which is so severe that Germany cannot afford to increase expenditure and help other countries. It is impossible for German government to enforce relief of Spain from perspectives, citizens and constitution. When a next crisis appears, the only way Germany can choose is to leave the Euro. Many economists have pointed out that the Euro needs new budget control system and this crisis makes this assertion clear. However, the new budget regulation of Germany disregards the stream, which means Germany sends a clear message to other Euro members that Germany is reluctant to aim at political integration. German takes a step forward to leave the Euro.
